g 200 £ 100 £ o2 2 S S
o [ = < s e M. =2 L : : : :
2 150 --i--oe A E 8 Lo : : :
€ oo : : % ] S RREE SRR FERTRRS 3] oo
3 100F----5---- T} F AYY) R f Rttt A
A F Vo440 S 1
X BOfeieee g8 [
< o : (28 I I s S A S
\% r . 5400_ :
(0] S R £ [
Eo 8 oo
0| R A-600f----+ | RIEE RN ST R
o ' P% r . i
Foo ° Lo
—100----t-e-- v oo
: 8OO+ e e e
T SERR SRS | W o
O_2%:...&....i....i....i....i....i....i.... b i 13]_Ow'....i....i....i....i....i....i....i....
5t : : g f
@ L | g @ L
oot T e T e o : A AN ARG IAT AN
oot ALLELTETVEITTL oosb— LUV TETITETIE T oosk—+ LETETIENL:
=20 -15 -10 -5 O 5 10 15 20 -20 -15 -10 -5 O 5 10 15 20 =20 -15 -10 -5 O 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

DQVM_CRF_TT_base_NoSel
—~— DOM_CKF_TT retrainOldFiles113 noSel
—— DOQM”CKF_TT retrainOldFiles125 noSel

PRV

[ A R R N7
T T | |r.*...|.~

Ratio
Ratio

.

100 T T T = . g v b =1000 - - -
S : R T T E T Lo
s [ i : N ' o [ Lo
£ 8Op e O REEE > I & 800 preees
= oo : T O U £ C : : :
b s o O L T
2 o : I L
o 60prre : I S P
\ | . . - . . . . . . . E B N N N
I : : —1000f+ -+ - [ bbb i o
1| IS E 1 R I 5 00y A A
i : : [ rof Lo
r : [ 1 > t oo
20|+ -5 -1 | PR =00 e T T © 200z P
: : i Of -+ e EEEE

®o=i5=10 5 0 5 10 15 20 Oy =i5-10 5 0 5 10 15 20 05 ={5=16° =5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

= 50 = 200
= | 4 L L : : : :
e 113 5 L 5 [ 1) e
IS] : : A L : : : : : : 0 L : : : :
T T Nooofiet iqv’f-u-:m-:...,.&-.:c;ﬂ*-e ----- g el |
=1 : : Foo : : : : : : £ 150f----: 1T EERR A I AR A
= N Vv L . : : [0 | N H
A R L > [ L L
: : L © : : :
g : _50_ ------- 8’ : : : +
v : [ @ U I 1 | O N |
d C c 100_ ; :
E ~100F----+-- 2 I 1 ik
___________________ H N I I A L : :
: T N o BOf kel Rt | EALEER SR
f 280 vl by
g [ ’ 3 IS S
o [ @ [ @ [ b b
R 1A 1A TR E AR aTaaRaTE 1 SR HITHTREERTHEATAUTRTHIRIE A | R i : T TR
0950 ] HRNARH : : ; 0950 : LDV TLE | 0.950 i ] : HARNNA AR :
=20 -15 -10 -5 0 5 10 15 20 =20 -15 -10 -5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


